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APPLIED PHYSICS _ II

ffie smr 3qtl
Timeallowed:3Hoursl

qh, O eri-wlfrrdwnV frqqfrd r

Note : There are THREE sections in the paper A, B and C'

Roll NO. ! ...............r......

lqtmdqsiif,:60
[Maximum Marks : 60

(i, Cwrqqtyfli@tt *sfrto qqrl*sdtdfrq tet6 qT,rWir7wdqq

afiro wrWfrsYor*Ytt#dr
Answer all the 10 ports of the question No. I in Seclion A. Each part carries

one mark and all 10 parts have obiective type questions'

(iii) twnfr*t Ywf ttfu6o e{rf *ntl1frq tvtsw3 ebwdve
t46T s f,riT / so {/,qll {dt afrq t
Answer any 6 questions out of the I questions in Section B. Each question

carries 3 marks and to be answered within 5 lines / 50 words.

(iv) tdrqfr*a wirlf tfufl, e{+f *swfrfrq tvd6YFrI aiowIVe
gar 15 dFT / Iso vqlt r7r dfrq t
Answer any 4 questions out of the 6 questions in Seclion C. Each question

carries I marlu and to be answered within 15 lines / 150 words.

(v) v'A6 fun * qfi vtiT *1 nqEn qa vret td frfrq t
solve all the questions of a section consecutively together.

(vt) qfr qmnlt eraral)frRtfrt eiM erEaqfrqrud t
Only English version is volid in case of dffirence in both the languages'

tflq-q
SECTION _ A

1. (i) sJilqrdu,, sqqlTGrftYmt
("i ffi51q'ildo.li
(c) Engis,rnFt{at6.r}fr
Resonance fube is used to
(a) find velocitY of sound
(c) find densitY of air

vsTqri['T *r vrco{] {
v+iltfrt$q6

find velocity of light
None of these

(b)
(d)

(b)
(d)

(1 of4) P.T.O.
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(ii) srm 3Tr{d rft q"t G qur q-r gTTfi srErrq{qr n srDmdq fuemq q,rfidr t -

The maximum displacement of a particle from its equilibrium position
executing simple harmonic motion is called

(a) 3flTdo,m

(c) sTIqrrT

(a) Time period
(c) Amplitude

(a) oo

(c) 60o

(a) oo

(c) 60"

(a) +50cm
(c) -50cm

(a) +50cm
(c) -50cm

(b) 3ilqft
(d) il{rGd

(b) Frequency
(d) Wavelength

(b) 30o
(d) 90"

(b) 30o
(d) 9oo

(b) - 100cm
(d) + l00cm

(b) - 100 cm
(d) + 100cm

(iii) qfr +$ ys,$ f*'rq :0" *1ur q{ sn rPrd A rS t, A q{r*d? qior ol qrq Am

If a light ray incident at angle 30o, angle of reflection will be

(iv) qfrfuS+qfr qrrrdr - 2Dt, As{rfrq,trs(tdrft -

The power of a lens is - 2D. Focal length of lens is

(v) fuq tE o,r sr+rr ft;q q-61 I
(a) 3rfla itm-iq {rd 6t} it 1u) 3rfliT ytd&r {rd s.r} fr
(c) 3rflrd qrtnr Trd ql+ fr (d) sq+ffi { t ut$ qfr
Wheatstone bridge is used
(a) To determine unknown inductance
(b) To determine unknown resistance
(c) To determine unknown capacitance
(d) None of the above

(vi) +m + 3Tr<ks yfdftT fu 61q tn {rsr*r ve t i
(a) ,=(51*
(c) ':(#)*

(a) ,:(5{*
(c) ': ($)*

(b) ,:Ff,*
(d) ,:(B*

to; ,:(tl*
(d) .:(B*

Which relation is true for internal resistance of a cell ?
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(vii) {ftttf, sntvrq{gErfiqqdtfrrt -
2222

(1x10)

(b) F:q(B'+)

(d) F: q (+ f)
Magnetic force on a moving charge is

(b) F=q(d,v)

(d) F=q(+ A)
(viii) lpfiu t* OlorffiqWt -

(a) [MrL2r2A-r] G) [MrLor2A-2](c) lvttl,orz4-t1 (d) [Mzrt1-z4-t1
Dimensional formula of Magnetic field (B) is

(a) i:dil
(c) i=q(+"4)

(a) i:Gh)
(c) i=q(V,a)

(a) lMttzrz4-t1
(c) Jtr,ttI.ofz4-t1

(ix) qn++fa+drt -
(a) to<fia 1u) ro-stra
One nano-meter is

(a) auf&s erFffiq
(c) sr+ntfrfr

(a) forward bias
(c) both the above

(b) luttorz6-21
(d) lvtzttrz4-t1

(c) to+ fia (d) ro-zfta

(b) ql-qPftrs3Tffit
(d) 3qiffi{+q+$qd

(b) reverse bias
(d) None of the above

(a) 10{ meter (b) 10-e meter (c) l0-3 meter (d) l0-2 meter
(x) qq fril sr*rs dc.ilr ftqrrs * sq { q.r{ qrn t, d vA *gr qrcrt -

when a zener-diode works as a voltage regulator, it is connected in

3.

4.

+ffrr-{
SECTION - B

srgr€rqd orC?dat tT+*a rp6qr{twTsPtasrgnsq r

Explain difference between transverse and longitudinal waves with examples.

qflTdr +} qftrflkd ffFqq r qtr+dq + ftzrq fatftq I

Define reflection. Write laws of reflection.

(3)

(1+2=3)

5.

milrs qilur ffi *dr t t fufr qrqr{ t cer { v}rr q,d rR srwr f+rq w miPm .alq 30"
t, fr gq rTrerq sT E{r + €TiH 3Tqrdqis {rd qrfr 

I

What is critical angle ? The critical angle is 30o when light ray enters from a medium
to air. Calculate refractive index of that medium with respect to air. (l+2=3)

1etfu m ftiq ft{fuq I A Rn 3Trffi + qur ffid * qrtq 3rq qrErq fr v,'fi qre EfifqtteiFl I

Write Coulomb's Law. Explain the Coulomb's forces acting between two static
charges in a medium with reipect to vacuum (l+2=3)

P.T.O.
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(3)

(3)

(2+4+2=8)

strtq 2 clt*+d{fizffirdfrrdrvrafifue t

A 14 O resistance is connected across a cell of e.rn.f. 1.5 volt. If internal resistance of
cell is 2 Q, find the terminal voltage across cell. (3)

7. e€$tf,d qr(rqrfr 61 ffia q f*q vs'R 6ffi fuqr qrcr t, ITrtsrsq I

Explain, how a moving coil galvanometer is converted into voltrneter. (3)

8. ts{+ftFrffiI t*f sq+qftfuq r

Write the uses of "LASER" in medical field.

s. pqdNvfiR+ 3T?tqrffi}+1q{sns+ t

Explain P andN type semiconductors.

+flr-qr
SECTION - C

10. qrflrq nd Aru qg fr EEH Ht fr ulH fld a.ti fr frrfu qT ftr qftc qutr ffftq I 3rar
H{nq{i6IrTFSr{q I

Describe the method to determine velocity of sound waves in air by resonance tube
with diagram. Explain end-correction. (6+2=8)

I t. qc€ qffi{tr 5 {'wr Si urffi q1 enql+* ffi qPCd {Tsr$ I {rGI qsfifi * i
srq)rrftfuq I

Explain the construction and working of a simple microscope with necessary^

diagram. Write any two uses of simple microscope. (4+2+2:8)

tz. ffi + f{qq ft{fuq I Frrdrs + ffi ffi gqftr q,,{ *ddq ig fr riildr wrerl t5,t

sPdtiq rpnfud frfqq I grrqrr*' fu{ ffir{q I

Write Kirchhoffs law. Establish the condition of equilibrium state of wheatstone
bridge using Kirchhoffs law. Draw necessary diagram. (2+4+2=8)

13. qr6q qE{ftq & { Rrd ffi qTqqr6 qletn irn rR 3Trtfrd gqfr qtt trt aicr+ srq
fiftrqj fuafiFqqf+anw 3Trifrd irftffiaqrdirrsFl I/Barn, wd lrnffuqr$, t
il'{ * rdrtrd fitt w s qr$ gqftq t* t t

Find an expression for niagfetic force acting- on a curr.ent Bryq1wire placed.in
external magnetic field. Prwe that maximumlorce on wire will be I/B, where / is the
length of wiie, I is current following in wire and B is the external magnetic field. (6+2=8)

14. ftlg6r0 * qq { p-N {fu gr+s s,T srq}r rTrrsr{q I Tt f,t r frEIEErfr 6 wrez wqlffi *1 vqgr{q t orrer+s fr{ tr;Tr{q I

Explain use of P-N junction diode as a rectifier. Explain construction and working of
full wave rectifier. Draw necessary diagram.

ls. f{q ittffi iqtileTqftoqFrqiftfuq :

Write short notes on any two of the following :

(i) es,,[{fu qqq

Optical Pumping
(iD 6d+st

Ruby Laser
(iii) ssrqfgl+s

Photo Diode (4+4=8)


